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Estimating Subtraction Calculations | O: to estimate

@

1. Which of these calculations
give an answer of about 100?

314 -238
654 - 425
237 -132
Q28 - 727

2. Which of these calculations
give an answer of about 200?

415-178
339 -219
347 - 146
311-174

3. Which of these calculations
give an answer of about 300?

912 - 554
321-152
1145 - 746
776 - 467

4. Which of these calculations
give an answer of about 4007

737 - 246
1154 - 982
837 - 426
425 -179

5. Which of these calculations
give an answer of about 5007

834 - 323
1224 -756
968 - 362
543 - 131

6. Which of these calculations
give an answer of about 600?

796 - 127
623 - 121
1250 - 540
Q45 - 343

/. Which of these calculations
give an answer of about 7007

1220 - 600
2550 - 1840
1310-720
2000 - 1160

8. Which of these calculations
give an answer of about 7507

1520-775
2015 - 1320
2230 - 1250
3050 - 2200

9. Which of these calculations
give an answer of about 4007

2334 - 1429
4294 - 3213
3061 - 1042
2471 - 1353

10. Which of these calculations
give an answer of about 1000?

3242 - 2215
5113 - 4035
6226 - 521
1750 - 550

11. Which of these calculations
give an answer of about 15007

4237 - 4114
5290 - 378
4004 - 2516
3800 - 2308

12. Which of these calculations
give an answer of about 20007

4950 - 2655
4301 - 2319
8335 - 640
4906 - 2617

13. Which of these calculations
give an answer of about 25007

3454 - 981
5103 - 2345
2638 - 134
4509 - 1871

14. Which of these calculations
give an answer of about 35007

Q304 - 6270
5143 - 1635
4298 - 2314
4635 - 1142

15. Which of these calculations
give an answer of about 50007

9349 - 4270
6135 - 1645
7288 - 2351
10045 - 5018
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Estimating Subtraction Calculations Answers LO: to estimate

@

1. Which of these calculations
give an answer of about 100?

314 -238
654 - 425

928 - 727

2. Which of these calculations
give an answer of about 200?

415-178
339 - 219

311-174

3. Which of these calculations
give an answer of about 300?

912 - 554
321 -152
1145 - 746

4. Which of these calculations
give an answer of about 4007

737 - 246
1154 -982

425 -179

5. Which of these calculations
give an answer of about 5007

1224 -756
968 - 362
543 - 131

6. Which of these calculations
give an answer of about 600?

796 - 127
623 - 121
1250 - 540

/. Which of these calculations
give an answer of about 7007

1220 - 600

2550 - 1840

1310-720
2000 - 1160

8. Which of these calculations
give an answer of about 7507

2015 - 1320
2230 - 1250
3050 - 2200

9. Which of these calculations
give an answer of about 4007

4294 - 3213
3061 - 1042
2471 - 1353

10. Which of these calculations
give an answer of about 1000?

5113 - 4035
6226 - 521
1750 - 550

11. Which of these calculations
give an answer of about 15007

4237 - 4114
5290 - 378

3800 - 2308

12. Which of these calculations
give an answer of about 20007

4950 - 2655

8335 - 640
4906 - 2617

13. Which of these calculations
give an answer of about 25007

3454 - 981
5103 - 2345

4509 - 1871

14. Which of these calculations
give an answer of about 35007

9304 - 6270

4298 - 2314

15. Which of these calculations
give an answer of about 50007

b

6135 - 1645
7288 - 2351
10045 - 5018
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